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BUAT
SAMPLE QUESTIONS

A : Physics & Chemistry

o

A Particle moving along a circle with a constant speed has :

(A) Constant Velocity (B) Constant Acceleration

(C) Radically inward acceleration (D) Radically outward acceleration

T U1, THEHM 9 | gArER 1 w1 w0 E, 55 o

(3) THEEE A | () THEHE @ |

(%) Fr=dra sz =t % = | (T) a3 s 1 e = | []
Which of the following correct representations the relation between P and T for a adiabatic process:
(A) P™TY — Consltant (B) PT' — Conslanl

(C) PT"™ = Constant (D) P™T = Constant

* Wrong answers carry necgative marks.



[25]

TG Tl o for fre 6 9 e P aen T 3 9 9oy © ¢

(31) PTr= frordion (&) PT = o

(9) PT = i (3) PHT = froramem [ ]
If surface tension of a liquid is 5 x 102 N/m and weight of the liquid column is 6.28 x 10*# Kg. Find
out the radius of the capillary tube?

(A)2x10°m (B)2.5x 103 m

(C©)2x10*m D)4x103m

A T 59 1 TS T 5 x 102 Fo/Hio T T 59 TIET T IR 6.28 x 10 T & 1 Shidrent =eft =t
o= =/ B 2

(31) 2x 102 #o (&) 2.5 x 107 Hio

(F) 2x 10* o (T) 4x 1073 Hto [ ]
Charge q enclosed in closed surface then flux is equal to how many times of charge :

(A) g, B) 1/g,

(C) 1/4ne, (D) 4ne,

ST T < HE | & 761 Tl hT AT ST o T[0T H 1 BRT 2

(30 e, @) 1/,

(®) 1/4ne, () 4ne, [ ]
If a particle moves as x = at?, y = bt?, its velocity at time t:

(A) 2t(a2+b2)]/’2 (B) t(a2+b2)]/2

(C) [t(a*+b*)¥?]/2 (D) None of the above

3R Ush 0T bl TIfd x = at?, y = bt? TRl | <t Sl & O THF t T LT A7 1 S

(31) 2t(a*+b?)? (F) t(a*+b?)'2

() [t(a>+b?)12]/2 (2) STRH d VR T | []

A mass m is raised from a distance 2R from surface of earth to 3R , work done to do so against
gravity will be:

(A) mgR /10 (B) mgR /11

(C)mgR /12 (D) mgR /14

Teh SEHM m 1 g3 2R A 3R o oM H, el et & T fohan o ot

(31) mgR /10 (&) mgR /11

(¥) mgR /12 () mgR /14 []
[3~ particle is emitted when:

(A) Neutron is converted into proton (B) electron is emitted from inner shells

(C) proton is converted into neutron (D) electron is emitted from outermost shell

B~ T =T S BT & T ¢

(1) =g, W1t | sgera § () 3T sl Y Seae Scsiq

(/) W, =2 H et & (T) ST =hieli H SR st []

* Wrong answers carry negative marks.



8. Two plane mirrors are inclined at 60 degree to each other. The number of images formed by them

will be :

(A)5 B) 6

)8 (D)7

T FHAE TUU Th TR H 600 IV R o GUT | Ik §R1 SR T gfaferwsi skt Teen 3

(31) 5 () 6

() 8 ()7 [ 1]
9. Which of the following is nearest to a blackbody :

(A) Carbon black (B) An enclosure with a small hole

(C) Asbestos (D) none of the above

T A i Fhedd it @

(1) e Tl (|) e 3R e T S feg @

(9) TR () STRH H 9 e & | []
10.  Which of the following is not having Electromagnetic wave nature :

(A) X-rays (B) Ultraviolet rays

(C) B-rays (D) Microwave

e 8 B i fagd et @ gehfa el femman g

(31) wer Tt | (W) TR ot |

(J) et -ferot | (%) g&d T | []
Chemistry :
1. The correct order of first ionization energy is:

(A)C>B>Be>Li (B) C>Be>B>Li

(C)B>C>Be>Li D)Be>Li>B>C

T ST STl Bl FEl A & :

(1) C>B>Be>Li (9) C>Be>B>Li

(9) B>C>Be>Li (T) Be>Li>B>C
2. Which of the following has permanent dipole moment?

(A) CF, (B) SF, (C) XeF, (D) BF,

forer ) forrit e fssgel vl 2 2

(31) CF, (91) SF, (F) XeF, (3) BF,
3.  Which one molecule has 3 centre-2 electron (3c-2¢) type bonds ?

(A) B,H, (B) XeF, (©) PCL, (D) SO,

Fre1 9 o U 19 H 3c-2e TR o1 o7 AT ST § 2

(1) B,H, (91) XeF, (9) PCl, (%) SO,
4.  Correct relation for B, is:

(A) Bond order = 1.0, Diamagnetic. (B) Bond order = 1.0, Paramgnetic.

(C) Bond order = 1.5, Diamagnetic. (D) Bond order = 1.5, Paramgnetic.

* Wrong answers carry negative marks.



IR & foau oet grara ¥ 2
(31) F-H = 1.0, Hfagm ™ (9) TY-H = 1.0, TR
(F) F9-%H = 1.5, Giagraen " (T) TU-H = 1.5, DI

5.  Which one is strongest acid?

v me-Cron
D 5 WS W

=1 § Q hE YeoTaq TR © 2
o O e
%} oY

6.  Correct order of stability of carbocations is:
(A)3°>2°>1° (B)3°>1°>2° ©1°>2°>3° D)2°>3°>1°
TSI & T HT e HAE
(31)3°>2°>1° (F) 3°>1°>2° (") 1°>2°>3° (¥)2°>3°>1°
7. What is the correct order of reactivity for S 1 reaction?

(A) CH, X < RCHX < RCHX <R.CX (B) R,CX < R CHX < R-CH_X < CH, X
(C) CH, X < R,CHX < R-CHX <R,CX (D) R,CX < R-CH,X < R,CHX < CH, X
8,1 stfufsran = ferg foramefiera =1 @&t sFH N 2
(81) CH, X < R-CH,X < R.CHX < R,CX () R,CX < R,CHX < R-CHX < CH, X
(¥) CH, X < R,CHX < R-CHX < R,CX (%) R,CX < R-CH,X < R,CHX < CH, X
8.  What will be the pH of 108M HCI?

(A) 6.9 (B) 8.0 71 D) 7.0

105M HCl &1 pH =11 81T ?

(31) 6.9 (9) 8.0 (|) 7.1 (%) 7.0
9.  What will be consequence on density in Frankel defect?

(A) Decrease (B) Increase

(C) Same (D) First decrease than increase

eIehet Afe H S TR T STER UEAT R ?

(37) W () e &

(W) =& T © (3) weet wrea ¢ fire sea §

10. Calculate the rate constant for first order reaction, the initial concentration of reactant is M/10
and after 8 minute 20 second the concentration of reactant is M/100.
(A) 4.606 x 103sec.! (B) 8.212 x 10®sec.!
(C) 2.303 x 103sec.! (D) 1.154 x 10%sec.?!

* Wrong answers carry negative marks.



Yo shife shi 3Af4fshan a1 ot feerieh o oM iU, Sef SAfTehReh 1 TRIETeh disal M/10 iR 8 fafe
20 HehUs & =g ATUHRH 1 Tl M/100 & St § 2

(31) 4.606 x 107 Hepve! (¥1) 8.212 x 10> F=Hvg”’

() 2.303 x 10 HHve (T) 1.154 x 10 Fepvg

B : Mathematics/Biology :

1.

Suppose f, f', f" are continuous on [0, e] & that f'(e)= f(e)= f(1)=1 and

e X €
-"l[f)iz )]dx =1/2, then the value of J.lf"(X) Inxdx equals

S 1 A 1.1 1L
@5 ) 5~ Cha @1

HHR f, S, " SR (0, el HEA RS [V (e ) = f(e) = f(l)_mmf [f(x)j =1/2,

@ [ " (x)inxds s

- 5 1 ) 3 1 ) 1 1 )1 1
2 e 2 e 2 e S e
Through the focus of parabola v*=Zpx (p>0), a line is drawn which intersects the curve at A (x, v,)
d B ( ). The rati 0% 1
an X,, U,). The ratio X, equals
(@) 2 (b) -1 (c)-4 (d) some function of p
AT P=2px (p>0), Tl T | T T 101 38 TR Bl = T8 ¢ foF 98 Waerd &1 31 feigsti A (x, v,)
Y1)
T Blx,, y,) T T €, T ST BT BT o
) 2 q) -1 ) -4 T) p I HIE B
Zn:T,=n(n+l)3(n+2)th hmz‘“:2008=
n—e0 .
(@) 2008 (b) 8002 (c) 2080 (d) 2000
qﬁiﬂ4=n(n+];(’1+2) nﬁwz2008_
r=1 r
3) 2008 ) 8002 ) 2080 ) 2000

In order to get at least once a head with the probability <().9, the number of times, a coin needs
to be tossed is

@ 3 (b) 4 (b (d) none of these

e A ¥ Y T R o 3T &1 IITehaT 0.9 & R A1 36 14 &1, a1 U foaeh =1 fohat R
IS TS ?

a1) 3 ) 4 ) 5 T) ST H 9 T 60

* Wrong answers carry negative marks.



oe

o
Let f(x)= {\/E Cos (x + Zﬂ, 0<x<2m, (where [x] denotes greatest integer less than equal to

x). The number of points of discontinuity of f(x ) are
(@5 (b) 6 ()4 (d)3

;;ni—f(x)z[«/fCos[x+§ﬂ,0£xs2n, (W[X]WWW%)W f(x) STECI &%

fore foig BR1 2

) 5 o) 6 ) 4 g)3
In(m+

The function J1%) = % is

(a) increasing on [0, )
(b) decreasing on [0, )
T T
(c) increasing on [0, g) and decreasing on [g» )

s T
(d) decreasing on [0, g) and increasing on [ga )

_In(mr+x)
e )= Infe+x)

3. 3= [0, o0) H gigam
. A [0, o) H SITHAN

5. s [0.5) A ©oo | e

T, o . T s
T. A=A [O,E)ﬁwwqa [0,2) o gfgam
Let o, B be the real roots of the equation x?+(@a-4)x+a?-3a+3) = 0.
If a?+p2=6, then a =
@-1-45  ©1-45 © -1++/5 @ 1++/5
e % a, B Tl x2+Ha-4)x+@*-3a+3) = 0.
& ot gal § | S a?+p2=6, T a =
A —1-4/5  F1-45 - —1+4/5 T 1445

If 0<a<b,beintegers such that a®+b?= (12+22) (3%2+4?) (52+7?), then the sum of all the values of
a is

(@ 120 (b) 124 {c) 156 (d) 168
A 0 <a < b, T Yol 30 THR I T foh a2+b2= (12+22) (32+42) (52+72), 79 a o W | BT 471 1 ST
31. 120 9. 124 9. 156 3. 168

* Wrong answers carry negative marks.



o. A and B be two fixed points whose coordinates are (3, 2) and (5, 4) respectively. The coordi-
nates of a point P in APB in an equilateral triangle, are
@ (4-/33++/3) 0 (4++33-+3) © 3-~3.4+3)d 3++/3.4-3)
AT B 31 feer famg & fomas damiss svmwn: (3,2) W (5, 4) ©, 7 fag P & fdwmes s et afg e
APB T GHaTg 39« ¥
H (4-33+43) T (4+33-43) T (3-3.4+3)%T 3+3.4-43)
10. The equation of the straight line passing through the point (4,3) and making intercepts on the
coordinate axes whose sum is -1 is
(a)§+%:l (b)§+%=1 (C)§+%:—1 (d)_X—er%:l
wgw%&waﬁwwﬁn@f%@ (4,3) VIO & TS TH GRI ST&7 T T T 37 : WUST 1 AN
-1%l
XYy XY XY X Yy
) 5+§_1 ) 5+T_1 ) 5+§_—1 T) 3+T_1
Biology :
1. Inheritance of acquired charactersis called_ |
(@) Lamarckism  (b) Neo-Lamarckism (c) Mutational theory (d) None of these
JYTRST CTETON BT FRTITI BBlleveereerenevevenerenenes Fed B
(30) HEharE (S) TR, (9) Seaftada g () eHARE T [ ]
2. In which sub-stage of Prophase-1 of Meiosis does synapsis occur ?
(@) Leptonema  (b) Zygonema (c) Pachynema (d) Diplonema
ST TS oht Torm Wit o fordt graren § wEAfe, g e ?
(1) T (&) ST (®) et () fewtrmn | [
3. Vivipary is characteristic of —
(a) Xerophytes (b) Halophytes (c) Hydrophytes (d) None
frqeesede fagvar § -
(1) HEEfuE (&) Trermiigfig (W) Segfag (T) = Tl | []
4. 1f chromosome number in gynoecium is 12, then the number in endosperm will be -
(@ 18 (b) 36 ()12 d6
Ffe ST § OGS 12 % 0 era # we fohd gt ?
(1) 18 (9) 36 (H) 12 (7) 6 []
5. Restriction enzyme is used for cutting -
(a) Proteins (b) RNA (c) DNA (d) Fats
TRZHH TTTgH 1T =T Thal © -
(37) g &l (9) AT T &/ (F) BT T H (Z) TE = []

* Wrong answers carry negative marks.



10.

[31]

Which of the following bacteria does not cause disease in humans ?

(@) Vibrio cholerae (b) Salmenella typhii

(c) Clostridium titani (d) Azobacter

o8 ey S A § A Seq e AT €, TEE i-

(1) fafsrh shicdl () HierdHen 2w (F) Frgifes feefl (7) Totsmre | [1
Which one of the following is the biggest gland in human body ?

(a) Pancreas (b) Thyroid (c) Pituitary (d) Liver

S TR § T ot Ui A 1 % o-

(87) SR (F) oS (@) foegedt (%) =Fd | [1
The number of characters studied in garden pea by Mendel were —

(a) Five (b) Three (c) Six (d) Seven
Hreal R A & WY A 7oz ford T wraqolt skt f off -

(1) 5 (31) 3 (¥) 6 (27 []
Duckbill platypus is —

(a) Flying bird (b) Ratite bird (c) Egg-laying Mammal (d) Reptile

T-foe wifeas 2 & :-

(1) e aren Ul (9) IS aren us () TSI e 9l T (T) Tgy []
In a grassland ecosystem, pyramid of numbers is -

(@) Upright (b) Inverted (c) Any of the two (d) None of the above
=g g & wiikfeafaent @ & Sia g &1 fikfae g g :-

(1) Hten (9) 3w

(%) S H A HE ot (T) SR B Y HE 7 | [1

: LOGICAL REASONING

Sheela told Reena: “The girl I met yesterday at the hospital was the youngest daughter of the
brother-in-law of my friend’s brother.” How is the girl related to Sheela’s friend?

(A) Friend (B) Cousin (C) Daughter (D) Niece

SiteT = O el Mot B T TRel & 91 @ ST @ wed St 9t o faem sTerare 18" 39 gt b
TiteT ST Teel o 9 HEre © 2

(1) fiat (&) == dfed (9) &t () wersit []

A man brought some watermelons to town and sold them. He sold 1/2 more than 1/2 of
what he brought and he was left with one melon. How many melons did he bring to town?

A1 B) 2 © 3 (D) 4
o STHT S= o o731 e TSt ITeX 19T | S8 3181 7R T8 & o7e 9 o1feres o &3 1R 3ok e saeh
T ek ARelS o1 | Sl St e e[St o o1 |

(31) T ()= (=) @+ (T) IR []

* Wrong answers carry negative marks.



3.

Find the odd one out

(A) RST (B) FGH (C) VXY (D) DEF
oo ST |
(&) RST (&) FGH (®) VXY (2) DEF []

When you reverse the digits of age of father you will get the age of son. One year ago the age of
father was twice that of son's age. What are the current ages of father and son ?

(A) 73 and 37 (B) 24 and 42 (C) 31 and 13 (D) 45 and 54

TS =T ST & 7o eter W A o1 31 THerdl € | Ueh oSl Tect Tt st o1 =1 bt &1 9 it ot | fan
TR I3 1 SHH 31 Ty |

(1) 73Wa37  (9) 24 3R 42 (9) 3144 13 (T) 45 Td 54 []

In the four boxes on the left you can see that there is a box that is blank. Work out which of the
four boxes on the right contains the missing shape or object so that there is a sequence.

(A) B) € D)

TR TR & =R @ H § TR el § 1 S SR < e 9R STeRfadl 7§ ¥ wiE 9t ek ia SageR e 2

() (= @ ()
L l_J

Answers :
Part A : Physics

Chemistry

Part B : Mathematics

Biology

Part C : Logical Reasoning -

[32]

= 0 = 00 = 0 = 0 =
T80 8820

* Wrong answers carry negative marks.
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3@ 4B
10 (O)
3.4 4.8
10. (A)
3.4) 4.B)
10. (D)
3.B) 4.B)
10. (A)
3.0 4.4



